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1.
. Iflogs a =3, find the value of a.
. Determine the value of x if logy(x* -1) = log,8.
. log,(1+2+3) = log, 1+ 1og,2+ log,3

- tog (57 loe (i) + toe (5 )0

. Prove that loglog— logmg =5 logm% =0
. Find (i) log(p’) — logP (ii) log (P*) = log P.

CLASS- 9™ ICSE
Find the logarithm of{(i) 16 to the base 2 (i1) 1000 to the base 10

Simplify : logg% +3 loglog + logl(% + log768.
2 -1

Simplify: logyr @ 2 ¥
2724(64)3

. If logjgx=a+b and y=10a'b, then find the value of logio(x”y’) in terms of a and b.
. If x= (100)*, y=(10000)" and z=(10)?, express log;g

.Iflog2=10.3010, log 3 =0.4771, and 5 = 0.6990, find log 30.
.Iflog 7 =0.8451 and log 3 =0.4771, find log 21°.

. Without using tables solve:

. 10g10 St 10g10(5x +1) = 101() (X +5) +1.

10vy

o in terms of a, b, c.

If x+ logz, y=log 2 and z =2 log ? find: (i) x -y + z (i) 4 ¥
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Find :
i.  The logarithm of 1000 to the base 10.
ii.  The logarithm of % to the base 3.
Find x, if :
i. Logax=-2
ii.  Loga(x+3)=2
iii.  Log,64=>
Express logy Y108 in terms of log 10% and log10?
Express as a single logarithm: 2 +% log 10° — 2l0g:0°
Find x, if :
i. logio(x +5)=1
ii. |Oglo (X + 1) + |Oglo(X - 1) = |091011 + 2|09103
if log 2 =0.3010 and log3 = 0.4771, find the value of :
i. log6
ii. logh
ii. logv24
if log 104=0.6.2.; find the value of :
i. 109108
i.  logip2.5
. given logigx=a and log;oy=b.
i.  write down 10** in terms of x
ii.  write down 10 in terms of y.
ii.  iflogioP = 2a - b; express P in terms of x and y.
. evaluate :
i. 1009125625 — log1664
ii. 1091632 — 10925125 + loge27

1 1 2
= , prove that: ¢? = ab
loggx logpx logex

10. if
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